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The following data is given for an economy for the
year 2016. How each of the following transactions would

affect the GDP and why ? 3
() Rs. 10 lakh is paid as interest on the national debt.

(i) lce-cream maker began the year with Rs. 5,000
worth of milk in his factory and at the end of

the year he is holding Rs. 5,500 worth of milk.

Using the quantity theory of money and the Fisher’s
equation explain in detail how the rate of growth in

money affects the nominal interest rate ? 5

Explain wh;sther a new environmental protection law that
requires firms to reduce their emissions of pollutants
(an exogenous event) will shift the short run aggregate
supply curve or aggregate demand.What are the policy
options available for the macroeconomist working with
the government to minimise effect of these events on

the economy ? Explain using suitable diagram. 7
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(a) What are the uses of private savings ?

&)

(©)

Suppose a country’s quantity of money is Rs. 600 billion,
nominal gross domestic product is Rs. 12 trillion and
the real gross domestic product is Rs. 6 trillion.

(1 trillion = 1000 billion)

() What is the price level and velocity of money in

this country ?

(if) Suppose the velocity is constant and the
economy’s output by 5 per cent each year. What
quantity of money and money supply should the
central bank set next year if it wants to keep the
price level stable ? (Calculate money supply in

billions). 23

Using the suitable diagram in IS-LM framework show
the effect of introduction of investment subsidy on the
level of consumption, income, investment and interest
rate in an economy. Also, compare the results with other

expansionary fiscal policies. 7
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Explain briefly the following concepts :
() Household fixed investment.
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(i)  Monetary neutrality. 3

(b)  Assume that the demand for real money balances is

represented by the following :
M/P=Y [04 — (» + expected inflation)
Where; Nominal Income (Y) = Rs. 2000

Real interest rate (r) = 4%
Expected inflation = 6% is constant in short run

() Calculate seignorage, if the rate of growth of

nominal money is 15 per cent forever.

(#5) Calculate the inflation tax when actual inflation

equals 6 per cent. Is it equal to Seignorage ? 3,2

(©0 () Define budget surplus. What does negative budget

surplus mean ? Explain uSing suitable diagram. 3

(i) Explain the effect of increase in government

purchase on budget surplus, 4
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oney growth and maintains it forever, what would be*

its effect on seignorage ? 5

() - iH Graphically explain the derivation of aggregate

demand curve using IS-LM framework 3 :

(i) Explain monetary transmission mechanism. R
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a
)  What are components of current account of the Balance

of Payment of a country ? 3

(b)) A bond promises to pay $1000 in one year.

() What is the interest rate on the bond if its price

today is $ 500 and $ 800 ?
(i) What is the relation between the price of the bond
and the interest rate ? 32

(¢0 () What do you mean by crowding out ? Explain

using a suitable diagram. 3

(if)  'When the demand for real money balances is less
responsive to the rate of interest, crowding out

is more. Explain using suitable diagram. 4
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(a) Explain how each of the following transactions would

enter the India’s balance of payment accounts.

. The Reserve Bank of India sells dollars and buys

rupee from a Swiss Bank.
II. Indian resident opens a Swiss Bank account. 3

() What is a money multiplier ? Suppose an economy has
a monetary base of $ 10 million. Calculate money supply

in the following situations :

() All the money is held as demand deposits and

banks hold 10 per cent of their deposits as reserves.

(if) All the money is held as currency. 32
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(¢)  Assume the following 1S-LM model :

Yd = Y - Tax
Tax = 0.2Y

| = 400 - 36i
G =120

M = 200
p=32

L = 02Y - 8i

(i) Calculate the equilibrium level of income and

interest rate. 3

(ify How much investment will be crowded out if the
government increases its purchases by 120 and

nominal money supply remains unchanged ? 4
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L =02Y — 8i
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How does GDP differ from GNP ? If a country employs
many foreign workers, which is likely to be higher :

GDP or GNP ? : 3
What are the social costs of a predictable inflation ? 5

Consider a loanable funds market of an economy. The

following equations describe the economy :

Y = OsiG 1
Y = 6000
G = 2000

PTO:



T = 2000
C=500+0.5(Y—T)
I = 2000 - 50r

() Find the equilibrium rate of interest and national

savings. 3

(i) Now suppose the government reduces the taxes
to 1000. Compute by how much amount do the
following change : disposable income,
consumption, investment and national savings due

to fall in the tax. 4
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